

Closed form continued fraction expansions for the powers of Generalized Lucas golden proportion

Kiran P. Gajera^{#1}, Dr. Devbhadra V. Shah^{*2}

^{#1}Assistant Professor, Humanities and Social Science department, Shree Swami Atmanand Saraswati Institute of Technology, Surat, India.

^{*2}Associate Professor, Department of Mathematics, Sir P. T. Sarvajanic College of Science, Surat, India.

Abstract— Generalized Lucas sequence $\{L_n^{(a,b)}\}$ is defined by the recurrence relation $L_n^{(a,b)} = aL_{n-1}^{(a,b)} + bL_{n-2}^{(a,b)}$ for $n \geq 2$ with initial conditions $L_0^{(a,b)} = 2, L_1^{(a,b)} = a$ and a, b are positive integers. We define generalized golden proportion for this sequence by $\phi_{a,b} = \lim_{n \rightarrow \infty} \frac{L_n^{(a,b)}}{L_{n-1}^{(a,b)}}$. In this paper by using elementary properties of the recurrence relation and the continued fractions we find the closed form continued fraction expansion for $\phi_{a,1}^k$ and $\phi_{a,-1}^k$, for any positive integer k .

Keywords— Lucas sequence, Generalized Lucas sequence, Continued fraction, Golden proportion.

I. INTRODUCTION

Continued fractions provide deep insight into mathematical problems; particularly into the nature of numbers. Continued fractions have found applications in various areas of Physics such as Fabry-Perot interferometry, quasi-amorphous states of matter and chaos. It encodes much useful information about the algebraic structure of a number and frequently arises in approximation theory and dynamical systems. Van der Poorten [1- 4] wrote that the elementary nature and simplicity of the theory of continued fractions is mostly buried in the literature. Our work is an outgrowth of [5, 6, 9]. We refer the readers to these papers for some basic background information on continued fractions, and to the books [7, 8, 10, 11] for more details.

It is known that every real number α has a continued fraction expansion

$$\alpha = a_0 + \frac{1}{a_1 + \frac{1}{a_2 + \frac{1}{\ddots}}}$$

Where each a_i is an integer (and a positive integer unless $i = 0$). For brevity we write $\alpha = [a_0, a_1, a_2, \dots]$. Clearly, α is rational if and only if its continued fraction is finite, and a beautiful theorem of Lagrange asserts that α is a quadratic irrational if and only if the continued fraction expansion is periodic.

The continued fraction expansion consisting of the number 1 repeated indefinitely represents the ‘golden mean’. This satisfies the quadratic equation $x^2 = x + 1$. The convergents of this continued fraction are obtained as the ratio of the successive terms of the Fibonacci sequence [9, 10]. Recall that the Fibonacci sequence $\{F_n\}$, named after Leonardo Pisano Fibonacci (1170–1250), is defined as $F_0 = 0, F_1 = 1$ and $F_n = F_{n-1} + F_{n-2}; n \geq 2$, which gives the sequence 0, 1, 1, 2, 3, 5, 8, 13, 21, 34, 55, 89, 144 The Lucas numbers $\{L_n\}$, named after François Lucas (1842–1891), are defined by $L_0 = 2, L_1 = 1$ and the recurrence relation $L_n = L_{n-1} + L_{n-2}; n \geq 2$. First few terms of the sequence are 2, 1, 3, 4, 7, 11, 18, 29, 47, 76, 123,...

We define the generalized Fibonacci sequence $\{F_n^{(a,b)}\}$ by the general difference equation of the form $F_n^{(a,b)} = a F_{n-1}^{(a,b)} + b F_{n-2}^{(a,b)}$; $n \geq 2$ with the initial conditions $F_0^{(a,b)} = F_1^{(a,b)} = 1$.

It is known [2] that extended Binet formula for this sequence is of the form

$$F_n^{(a,b)} = \frac{\alpha^n - \beta^n}{\alpha - \beta}; \text{ where } \alpha = \frac{a + \sqrt{a^2 + 4b}}{2} \text{ and } \beta = \frac{a - \sqrt{a^2 + 4b}}{2}. \tag{1}$$

We also define generalized Lucas sequence $\{L_n^{(a,b)}\}$ by the recurrence relation $L_n^{(a,b)} = a L_{n-1}^{(a,b)} + b L_{n-2}^{(a,b)}$; $n \geq 2$ with $L_0^{(a,b)} = 2, L_1^{(a,b)} = a$.

II. THEOREMS AND PROPERTIES OF GENERALIZED LUCAS SEQUENCES

We first derive the extended Binet's formula for $L_n^{(a,b)}$.

Theorem 2.1: Extended Binet's formula for the terms of generalized Lucas sequence $\{L_n^{(a,b)}\}$ is given by

$$L_n^{(a,b)} = \left(\frac{a + \sqrt{a^2 + 4b}}{2}\right)^n + \left(\frac{a - \sqrt{a^2 + 4b}}{2}\right)^n = \alpha^n + \beta^n.$$

Proof: We prove the result by induction.

We have $L_1^{(a,b)} = \frac{a + \sqrt{a^2 + 4b}}{2} + \frac{a - \sqrt{a^2 + 4b}}{2} = a$, proving the result for $n = 1$. Assume that it holds for all integers up to k . i.e. $L_k^{(a,b)} = \alpha^k + \beta^k$ and $L_{k-1}^{(a,b)} = \alpha^{k-1} + \beta^{k-1}$ holds. This gives

$$L_{k+1}^{(a,b)} = a L_k^{(a,b)} + b L_{k-1}^{(a,b)} = a [\alpha^k + \beta^k] + b [\alpha^{k-1} + \beta^{k-1}] = \alpha^{k-1}(a\alpha + b) + \beta^{k-1}(a\beta + b)$$

We note that $a\alpha + b = a\left(\frac{a + \sqrt{a^2 + 4b}}{2}\right) + b = \left(\frac{a + \sqrt{a^2 + 4b}}{2}\right)^2 = \alpha^2$ and $a\beta + b = \beta^2$.

Thus $L_{k+1}^{(a,b)} = (\alpha)^{k-1} \alpha^2 + (\beta)^{k-1} \beta^2 = \alpha^{k+1} + \beta^{k+1}$.

This proves the result for $k + 1$, which proves the required result.

Here we note that $\alpha\beta = -b$.

Corollary 2.2: $\lim_{n \rightarrow \infty} \frac{L_n^{(a,b)}}{L_{n-1}^{(a,b)}} = \frac{a + \sqrt{a^2 + 4b}}{2}$.

Proof: Assume that $\lim_{n \rightarrow \infty} \frac{L_n^{(a,b)}}{L_{n-1}^{(a,b)}} = x$. This gives $x = \lim_{n \rightarrow \infty} \frac{a L_{n-1}^{(a,b)} + b L_{n-2}^{(a,b)}}{L_{n-1}^{(a,b)}}$

$$x = a + \frac{b}{x} \Rightarrow x^2 - ax - b = 0. \text{ This gives } x = \frac{a + \sqrt{a^2 + 4b}}{2}, \text{ as required.}$$

We now derive a result which connects generalized Fibonacci numbers and Generalized Lucas numbers.

Lemma 2.3: $L_n^{(a,b)} = F_{k+1}^{(a,b)} L_{n-k}^{(a,b)} + b F_k^{(a,b)} L_{n-k-1}^{(a,b)}$.

Proof: First we express $L_n^{(a,b)} = \alpha^n + \beta^n$ in terms of any two previous consecutive terms, viz. $L_{n-k}^{(a,b)} = \alpha^{n-k} + \beta^{n-k}$ and $L_{n-k-1}^{(a,b)} = \alpha^{n-k-1} + \beta^{n-k-1}$. This can be written as

$$\begin{pmatrix} L_{n-k}^{(a,b)} \\ L_{n-k-1}^{(a,b)} \end{pmatrix} = \begin{pmatrix} \alpha^{n-k} & \beta^{n-k} \\ \alpha^{n-k-1} & \beta^{n-k-1} \end{pmatrix} \begin{pmatrix} C_1 \\ C_2 \end{pmatrix};$$

where $C_1 = C_2 = 1$. This gives

$$\begin{aligned} \begin{pmatrix} C_1 \\ C_2 \end{pmatrix} &= \begin{pmatrix} \alpha^{n-k} & \beta^{n-k} \\ \alpha^{n-k-1} & \beta^{n-k-1} \end{pmatrix}^{-1} \begin{pmatrix} L_{n-k}^{(a,b)} \\ L_{n-k-1}^{(a,b)} \end{pmatrix} \\ &= \frac{1}{\alpha^{n-k}\beta^{n-k-1} - \alpha^{n-k-1}\beta^{n-k}} \begin{pmatrix} \beta^{n-k-1} & -\beta^{n-k} \\ -\alpha^{n-k-1} & \alpha^{n-k} \end{pmatrix} \begin{pmatrix} L_{n-k}^{(a,b)} \\ L_{n-k-1}^{(a,b)} \end{pmatrix} \\ &= \frac{1}{(\alpha\beta)^{n-k-1}(\alpha - \beta)} \begin{pmatrix} L_{n-k}^{(a,b)}\beta^{n-k-1} - L_{n-k-1}^{(a,b)}\beta^{n-k} \\ -L_{n-k}^{(a,b)}\alpha^{n-k-1} + L_{n-k-1}^{(a,b)}\alpha^{n-k} \end{pmatrix} \end{aligned}$$

Thus

$$C_1 = \frac{L_{n-k}^{(a,b)}\beta^{n-k-1} - L_{n-k-1}^{(a,b)}\beta^{n-k}}{(\alpha\beta)^{n-k-1}(\alpha - \beta)}, C_2 = \frac{-L_{n-k}^{(a,b)}\alpha^{n-k-1} + L_{n-k-1}^{(a,b)}\alpha^{n-k}}{(\alpha\beta)^{n-k-1}(\alpha - \beta)}.$$

This gives

$$C_1 = \frac{L_{n-k}^{(a,b)} - L_{n-k-1}^{(a,b)}\beta}{\alpha^{n-k-1}(\alpha - \beta)}, C_2 = \frac{-L_{n-k}^{(a,b)} + L_{n-k-1}^{(a,b)}\alpha}{\beta^{n-k-1}(\alpha - \beta)}.$$

Using these values in $L_n^{(a,b)} = C_1\alpha^n + C_2\beta^n$, we get

$$\begin{aligned} L_n^{(a,b)} &= \frac{(L_{n-k}^{(a,b)} - L_{n-k-1}^{(a,b)}\beta)\alpha^n}{\alpha^{n-k-1}(\alpha - \beta)} + \frac{(-L_{n-k}^{(a,b)} + L_{n-k-1}^{(a,b)}\alpha)\beta^n}{\beta^{n-k-1}(\alpha - \beta)} \\ &= \frac{\alpha^{k+1}(L_{n-k}^{(a,b)} - \beta L_{n-k-1}^{(a,b)})}{(\alpha - \beta)} + \frac{\beta^{k+1}(-L_{n-k}^{(a,b)} + \alpha L_{n-k-1}^{(a,b)})}{(\alpha - \beta)} \\ &= L_{n-k}^{(a,b)} \left(\frac{\alpha^{k+1} - \beta^{k+1}}{\alpha - \beta} \right) - \alpha\beta L_{n-k-1}^{(a,b)} \left(\frac{\alpha^k - \beta^k}{\alpha - \beta} \right). \end{aligned}$$

Since $\alpha\beta = -b$, we finally get

$$L_n^{(a,b)} = F_{k+1}^{(a,b)} L_{n-k}^{(a,b)} + b F_k^{(a,b)} L_{n-k-1}^{(a,b)}.$$

Lemma 2.4: $F_{n-2}^{(a,b)} F_n^{(a,b)} - (F_{n-1}^{(a,b)})^2 = (-1)^{n-1} b^{n-2}$.

Proof: We use (1) to write

$$F_{n-2}^{(a,b)} F_n^{(a,b)} - (F_{n-1}^{(a,b)})^2 = (C_1\alpha^{n-2} + C_2\beta^{n-2})(C_1\alpha^n + C_2\beta^n) - (C_1\alpha^{n-1} + C_2\beta^{n-1})^2,$$

Where $\alpha = \frac{a + \sqrt{a^2 + 4b}}{2}$, $\beta = \frac{a - \sqrt{a^2 + 4b}}{2}$ and $C_1 = \frac{1}{\sqrt{a^2 + 4b}}$, $C_1 = -C_2$.

$$\begin{aligned} \text{Then LHS} &= C_1^2 [(\alpha^{n-2} - \beta^{n-2})(\alpha^n - \beta^n) - (\alpha^{n-1} - \beta^{n-1})^2] \\ &= C_1^2 [\alpha^{2n-2} - \alpha^{n-2}\beta^n - \alpha^n\beta^{n-2} + \beta^{2n-2} - (\alpha^{2n-2} - 2\alpha^{n-1}\beta^{n-1} + \beta^{2n-2})] \end{aligned}$$

$$= C_1^2 [-\alpha^{n-2} \beta^{n-2} (\alpha^2 + \beta^2) + 2\alpha^{n-1} \beta^{n-1}]$$

$$= C_1^2 [-(\alpha\beta)^{n-2} (\alpha^2 + \beta^2) + 2(\alpha\beta)^{n-1}]$$

Now, $\alpha\beta = \left(\frac{a+\sqrt{a^2+4b}}{2}\right) \left(\frac{a-\sqrt{a^2+4b}}{2}\right) = \frac{a^2-(a^2+4b)}{4} = -b$.

This gives LHS = $C_1^2 [-(-b)^{n-2} (\alpha^2 + \beta^2) + 2(-b)^{n-1}]$
 $= (-1)^{n-1} (-b)^{n-2} C_1^2 [(\alpha^2 + \beta^2) + 2b]$

Substituting back in for C_1, α, β yields:

$$\text{LHS} = (-1)^{n-1} (-b)^{n-2} \left(\frac{1}{a^2+4b}\right) \left(\frac{a^2+\sqrt{a^2+4b}+2b}{2} + \frac{a^2-\sqrt{a^2+4b}+2b}{2} + 2b\right)$$

$$= (-1)^{n-1} (-b)^{n-2} \left(\frac{1}{a^2+4b}\right) \left(\frac{2a^2+4b}{2} + 2b\right)$$

$$= (-1)^{n-1} (-b)^{n-2} \left(\frac{1}{a^2+4b}\right) (a^2+4b)$$

$$= (-1)^{n-1} (-b)^{n-2}, \text{ as required.}$$

III. CONTINUED FRACTIONS OF POWERS OF GOLDEN MEAN

Define $\phi_{a,b} = \lim_{n \rightarrow \infty} \frac{L_n^{(a,b)}}{L_{n-1}^{(a,b)}} = \frac{a \pm \sqrt{a^2+4b}}{2}$. We find closed form expressions for the continued fractions

of the $\phi_{a,b}^k$ for any integer k and for $b = \pm 1$. As the continued fraction of α is trivially related to that of $\frac{1}{\alpha}$, it suffices to study the case $k > 0$.

Theorem 3.1: $\phi_{a,1}^k = \begin{cases} [L_k^{(a,b)}; \overline{L_k^{(a,b)}}]; & \text{if } k \text{ is odd} \\ [L_k^{(a,b)} - 1, 1, \overline{L_k^{(a,b)} - 2}]; & \text{if } k \text{ is even} \end{cases}$

Proof: By lemma 2.3 we have

$$L_n^{(a,b)} = F_{k+1}^{(a,b)} L_{n-k}^{(a,b)} + b F_k^{(a,b)} L_{n-k-1}^{(a,b)}$$

$$\therefore \frac{L_n^{(a,b)}}{L_{n-k}^{(a,b)}} = \frac{F_{k+1}^{(a,b)} L_{n-k}^{(a,b)} + b F_k^{(a,b)} L_{n-k-1}^{(a,b)}}{L_{n-k}^{(a,b)}}$$

$$= F_{k+1}^{(a,b)} + b F_k^{(a,b)} \frac{L_{n-k-1}^{(a,b)}}{L_{n-k}^{(a,b)}}$$

$$= F_{k+1}^{(a,b)} + \frac{b \left(a F_{k-1}^{(a,b)} L_{n-k-1}^{(a,b)} + b F_{k-2}^{(a,b)} L_{n-k-1}^{(a,b)} \right)}{L_{n-k}^{(a,b)}}$$

$$= F_{k+1}^{(a,b)} + b \left[\frac{\left(a F_{k-1}^{(a,b)} L_{n-k-1}^{(a,b)} + b F_{k-1}^{(a,b)} L_{n-k-2}^{(a,b)} \right)}{L_{n-k}^{(a,b)}} + \frac{\left(b F_{k-2}^{(a,b)} L_{n-k-1}^{(a,b)} - b F_{k-1}^{(a,b)} L_{n-k-2}^{(a,b)} \right)}{L_{n-k}^{(a,b)}} \right] \times \left(L_{n-k}^{(a,b)} \right)^{-1}$$

$$= F_{k+1}^{(a,b)} + \frac{b F_{k-1}^{(a,b)} L_{n-k}^{(a,b)}}{L_{n-k}^{(a,b)}} + \frac{b (b F_{k-2}^{(a,b)} L_{n-k-1}^{(a,b)} - b F_{k-1}^{(a,b)} L_{n-k-2}^{(a,b)})}{L_{n-k}^{(a,b)}}$$

Since $L_{n-k-1}^{(a,b)} = F_k^{(a,b)} L_{n-k-k}^{(a,b)} + b F_{k-1}^{(a,b)} L_{n-k-k-1}^{(a,b)}$ and

$L_{n-k-2}^{(a,b)} = F_{k-1}^{(a,b)} L_{n-k-k-1}^{(a,b)} + b F_{k-2}^{(a,b)} L_{n-k-k-2}^{(a,b)}$, the above reduces to

$$\frac{L_n^{(a,b)}}{L_{n-k}^{(a,b)}} = F_{k+1}^{(a,b)} + b F_{k-1}^{(a,b)} + b^2 \left[\begin{array}{l} F_{k-2}^{(a,b)} (F_k^{(a,b)} L_{n-2k}^{(a,b)} + b F_{k-1}^{(a,b)} L_{n-2k-1}^{(a,b)}) \\ - F_{k-1}^{(a,b)} (F_{k-1}^{(a,b)} L_{n-2k}^{(a,b)} + b F_{k-2}^{(a,b)} L_{n-2k-1}^{(a,b)}) \end{array} \right] \times (L_{n-k}^{(a,b)})^{-1}$$

$$= (F_{k+1}^{(a,b)} + b F_{k-1}^{(a,b)}) + \frac{b^2 (F_{k-2}^{(a,b)} F_k^{(a,b)} L_{n-2k}^{(a,b)} - (F_{k-1}^{(a,b)})^2 L_{n-2k}^{(a,b)})}{L_{n-k}^{(a,b)}}$$

But by lemma 2.4 we know that

$$F_{k-2}^{(a,b)} F_k^{(a,b)} - (F_{k-1}^{(a,b)})^2 = (-1)^{k-1} b^{k-2}.$$

And thus,

$$\frac{L_n^{(a,b)}}{L_{n-k}^{(a,b)}} = (F_{k+1}^{(a,b)} + b F_{k-1}^{(a,b)}) + \frac{L_{n-2k}^{(a,b)} b^k (-1)^{k-1}}{L_{n-k}^{(a,b)}}. \tag{2}$$

Now when we consider $b = 1$, we have $L_n^{(a,b)} = a L_{n-1}^{(a,b)} + L_{n-2}^{(a,b)}$. In this case (2) becomes

$$\frac{L_n^{(a,b)}}{L_{n-k}^{(a,b)}} = L_k^{(a,b)} + \frac{L_{n-2k}^{(a,b)} (-1)^{k-1}}{L_{n-k}^{(a,b)}}.$$

Now if k is odd then we get

$$\frac{L_n^{(a,b)}}{L_{n-k}^{(a,b)}} = L_k^{(a,b)} + \frac{1}{L_{n-k}^{(a,b)} / L_{n-2k}^{(a,b)}}.$$

Also if k is even then we get

$$\frac{L_n^{(a,b)}}{L_{n-k}^{(a,b)}} = L_k^{(a,b)} + \frac{-1}{L_{n-k}^{(a,b)} / L_{n-2k}^{(a,b)}}.$$

In this case we manipulate further. We write it as

$$\frac{L_n^{(a,b)}}{L_{n-k}^{(a,b)}} = L_k^{(a,b)} - 1 + 1 - \frac{1}{L_{n-k}^{(a,b)} / L_{n-2k}^{(a,b)}}.$$

Now,

$$1 - \frac{1}{L_{n-k}^{(a,b)} / L_{n-2k}^{(a,b)}} = \frac{L_{n-k}^{(a,b)} - L_{n-2k}^{(a,b)}}{L_{n-k}^{(a,b)}}$$

$$= \frac{1}{L_{n-k}^{(a,b)} / (L_{n-k}^{(a,b)} - L_{n-2k}^{(a,b)})}$$

$$\begin{aligned}
 &= \frac{1}{\left(\left(L_{n-k}^{(a,b)} - L_{n-2k}^{(a,b)} \right) + L_{n-2k}^{(a,b)} \right) / \left(L_{n-k}^{(a,b)} - L_{n-2k}^{(a,b)} \right)} \\
 &= \frac{1}{1 + \left(L_{n-2k}^{(a,b)} / \left(L_{n-k}^{(a,b)} - L_{n-2k}^{(a,b)} \right) \right)} \\
 &= \frac{1}{1 + \left(1 / \left(\left(L_{n-k}^{(a,b)} - L_{n-2k}^{(a,b)} \right) / L_{n-2k}^{(a,b)} \right) \right)} \\
 &= \frac{1}{1 + \left(1 / \left(\left(L_{n-k}^{(a,b)} / L_{n-2k}^{(a,b)} \right) - 1 \right) \right)}
 \end{aligned}$$

Taking the limit as $n \rightarrow \infty$, we get

$$\phi_{a,1}^k = L_k^{(a,b)} - 1 + \frac{1}{1 + (1/(\phi_{a,1}^k - 1))}.$$

Thus,

$$\phi_{a,1}^k = \begin{cases} \left[L_k^{(a,b)}; \overline{L_k^{(a,b)}} \right]; & \text{if } k \text{ is odd} \\ \left[L_k^{(a,b)} - 1, 1, \overline{L_k^{(a,b)} - 2} \right]; & \text{if } k \text{ is even} \end{cases}$$

Finally the continued fraction of $\phi_{a,1}^k$ follows easily.

Theorem 3.2: $\phi_{a,-1}^k = \left[F_{k+1}^{(a,b)} - F_{k-1}^{(a,b)} - 1, 1, \overline{F_{k+1}^{(a,b)} - F_{k-1}^{(a,b)} - 2} \right]$

Proof: When $b = -1$ we have $L_n^{(a,b)} = aL_{n-1}^{(a,b)} - L_{n-2}^{(a,b)}$. In this case, (2) becomes

$$\begin{aligned}
 \frac{L_n^{(a,b)}}{L_{n-k}^{(a,b)}} &= \left(F_{k+1}^{(a,b)} - F_{k-1}^{(a,b)} \right) + (-1)^k (-1)^{k-1} \frac{L_{n-2k}^{(a,b)}}{L_{n-k}^{(a,b)}} \\
 &= \left(F_{k+1}^{(a,b)} - F_{k-1}^{(a,b)} \right) - \frac{L_{n-2k}^{(a,b)}}{L_{n-k}^{(a,b)}}
 \end{aligned}$$

Arguing according to last theorem, and using the fact that $\phi_{a,-1} = \frac{a + \sqrt{a^2 - 4}}{2}$, we get

$$\phi_{a,-1}^k = \left(F_{k+1}^{(a,b)} - F_{k-1}^{(a,b)} - 1 \right) + \frac{1}{1 + (1/(\phi_{a,-1}^k - 1))}.$$

This clearly determines a continued fraction with repeating block of length 2 of the following form:

$$\phi_{a,-1}^k = \left[F_{k+1}^{(a,b)} - F_{k-1}^{(a,b)} - 1, 1, \overline{F_{k+1}^{(a,b)} - F_{k-1}^{(a,b)} - 2} \right].$$

This proves the result.

IV. CONCLUSIONS

The techniques developed in this paper have allowed us to determine closed form expressions for the continued fraction expansions of some special quadratic numbers. However, since our method applies only to a relatively small class of numbers, it does not allow us to abandon the algorithm. We have been able to prove the structure of the continued fraction of a sizeable class of numbers. Although it was pretty clear at the outset that there was a nice structure to this class, we have successfully proven it, and can now use these results to possibly derive similar results for other classes.

ACKNOWLEDGEMENT

The author wishes to thank the referee for the careful reading of the manuscript, the perceptive criticisms, and the many stylistic improvements.

REFERENCES

- [1] A. J. Van der Poorten, "Fractions of the period of the continued fraction expansion of quadratic integers", Bulletin of the Australian Mathematical Society, 44 (1) (1991), 155–169.
- [2] A. J. van der Poorten, "Notes on continued fractions and recurrence sequences," in Number Theory and Cryptograph (Sydney, 1989), vol. 154 of London Mathematical Society Lecture Note Series, pp. 86–97, Cambridge University Press, Cambridge, UK, 1990.
- [3] A. J. van der Poorten, "An introduction to continued fractions, in Diophantine Analysis (Kensington, 1985)", vol. 109 of London Mathematical Society Lecture Note Series, pp. 99–138, Cambridge University Press, Cambridge, UK, 1986.
- [4] A. J. van der Poorten, "Continued fraction expansions of values of the exponential function and related fun with continued fractions," *Nieuw Archief voor Wiskunde*, vol. 14, no. 2, pp.221–230, 1996.
- [5] D. Fishman, "Closed Form Continued Fraction Expansion of Special Quadratic Irrationals", junior thesis (advisor S. J. Miller), Princeton University, 2002–2003.
- [6] Daniel Fishman and Steven J. Miller, "Closed form continued fraction expansions of special quadratic irrationals", Hindawi Publishing Corporation ISRN Combinatorics, Article ID 414623, 5 pages, Volume 2013. <http://dx.doi.org/10.1155/2013/414623>.
- [7] B. Gosper, *Continued fraction arithmetic*. <http://www.tweedledum.com/rwg/cfup.htm>.
- [8] G. H. Hardy and E. Wright, "An introduction to the Theory of Numbers", Oxford Science Publications, Clarendon Press, Oxford, UK, 5th edition, 1995.
- [9] M. Drmota, "Fibonacci Numbers and Continued Fraction Expansions", in G.E. Bergum et al.(eds.), "Applications of Fibonacci Numbers" Vol. 5. Second edition. Kluwer Academic Publishers. Netherlands 1993.
- [10] T. Koshy, "Fibonacci and Lucas Numbers with applications", Pure and Applied Mathematics, Wiley-Inter Science, New York, NY, USA, 2001.
- [11] S. J. Miller and R. Takloo-Bighash, "An Invitation to Modern Number Theory", Princeton University Press, Princeton, NJ, USA, 2006.